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5. Find the volume of the solid whose base is the triangular region with vertices (0, 0), (3, 0), and
£ {0, 4) and whose cross-sections perpendicular to the r-axis are semicircles.
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6. Consider a trough in the shape of a half-cylinder of radius 3 feet and length 8 feet (diameter at
the top). It is full of water to a depth of 3 feet., Find an integral that gives Llnece:sziz;u;\r

to pump all of the water to a point 1 foot above the top of the trough,
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~Write a power series for the function f(x) = In(1 + 2x) centered at = = 0.
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9. /

A spring stretches | foot beyond its natural length under§ force Bf 100 pounds. How mm-
is done in stretching it 3 feet beyond its natural length?
. o £
,xon\r*"""" F) =k x W= S kx dx x = digplacenment e
\60 = k(')

W= S 100 x 8X
i z00 (o)

50x" ‘:

50.32' -90-01.‘L

"

x-hb

10. Determine whether the following series converge or diverge. Name and apply an appropriate test
and state all the conditions that must be satisfied.
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12. Tind the second degree Taylor polynomial for f(x) = /x at = = 1.
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